H & 0l & AHS B Ml A

AYZEY
REEH HBACIMHIA MB(EA/22H2T)
2oz JIgEs EER=E)
SA - B SRIBH) - MRAR - BAS A HIDEZ
&t 5,556,238 6,963,580 1,407,342
= 90,000
[ 31,748
Jl 2,159,840
& 936,635
Al 2,226,752
= 111,263
S8 AdLeIMHA HS(Ed/242=) 4,692,599 6,161,090 1,468,491
= 90,000
[ 9,927
Jl 1,676,655
& 883,980
Al 1,975,037
= 57,000
HoE JIgtxy 1,071,181 1,120,804 N\49,623
= 12,500
Jl 468,372
< 119,390
Al 470,919
I=FMALYSILNYH 2 (=) 51,100 51,100 0
Jl 25,550
=S 5,110
Al 20,440
307 21201 & 51,100 51,100 0
Jl 25,550
= 5,110
Al 20,440
05 212t =S 51,100 51,100 0
O =ZAAS =AM 29
51,100,000 51,100
Il 25,550
= 5,110
Al 20,440
IIZHAAUSTNHE KAHLAIY XIR(=2H]) 74,072 54,144 19,928
Il 37,036
= 7,407
Al 29,629
307 2I2t01 & 74,072 54,144 19,928
Jl 37,036
= 7,407
Al 29,629
05 2IMRIE S 74,072 54,144 19,928
O Z=EAASFAME Nt ZAr X
74,072,000& 74,072




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Eelr 2223 Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 37,036
=S 7,407
Al 29,629
METIZ0| Ated2el 2SXI2 (<) 24,687 41,143 16,456
== 7,406
Al 17,281
307 lztol & 24,687 41,143 16,456
= 7,406
Al 17,281
05 2I2HRIE S 24,687 41,143 16,456
OMYXIZOl ARZ2 BE X8
24,687,000& 24,687
= 7,406
Al 17,281
AHatollet o MHEZESAH(SHI) 46,450 69,000 N22,550
[ 9,290
Al 37,160
307 glztol & 46,450 69,000 N22,550
= 9,290
Al 37,160
05 QI29IEt2 46,450 69,000 A22,550
ORI 2 MHEZAIY
46,450,000 46,450
= 9,290
Al 37,160
THaole & AALSTAL (=HI) 64,592 61,092 3,500
7l 32,296
= 6,459
Al 25,837
307 @20l & 64,592 61,092 3,500
Il 32,296
= 6,459
Al 25,837
05 2I2tRIE =S 64,592 61,092 3,500
ONMY & SAATSIAIY
64,592,000 64,592
Il 32,296
= 6,459
Al 25,837
Aaoey & JAUALSTAL 5,700 1,500 4,200
201 er=23y| 4,700 500 4,200
01 AtR2t2|HI 4,700 500 4,200
ogegtEgll 500,000 500




SM: ABEXY
M UEEH HL2LIMHIA MSB(EAH/E2498)
Eelr 2223 Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFMABANSIAS FA +o
70,0003 x5 %123 4,200
202 04dl 1,000 1,000
01 2L AL 1,000 1,000
O=LHNHI 1,000,000& 1,000
A mE FASMEIA XEAS 100,000 59,095 40,905
7l 50,000
= 10,000
Al 40,000
307 @120l & 100,000 59,095 40,905
Il 50,000
= 10,000
Al 40,000
05 212t S 100,000 59,095 40,905
ONARE BASAHIA XA
100,000,000 100,000
Jl 50,000
= 10,000
Al 40,000
HAUALSXILEY IH&S(=H]) 486,980 524,160 A37,180
) 243,490
= 48,698
Al 194,792
307 elzto| & 486,980 524,160 A37,180
Jl 243,490
[ 48,698
Al 194,792
05 2ItRIE =2 486,980 524,160 A37,180
OFAUAB=TME ol2iats
486,980,000& 486,980
Jl 243,490
[ 48,698
Al 194,792
HAUEAAY FE(SAXHRMA) (EH) 32,600 30,950 1,650
= 6,520
Al 26,080
307 el2to| & 32,600 30,950 1,650
= 6,520
Al 26,080
05 212+ =S 32,600 30,950 1,650
OFUEAHAY FX(SANHRMA)
32,600,000& 32,600
< 6.520
Al 26,080




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Eelr 2223 Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HalZs 124l X2 (=2]) 25,000 7,420 17,580
= 12,500
== 2,500
Al 10,000

307 212+01& 25,000 7,420 17,580
= 12,500
=S 2,500
Al 10,000

012z € 2/=H] 25,000 7,420 17,580
O&EMEE Xzl K& 25,000,000& 25,000
= 12,500
= 2,500
Al 10,000

SEFUALSIAEY 160,000 184,600 A\24,600
Jl 80,000
= 16,000
Al 64,000

307 gl2to| & 160,000 184,600 24,600
Jl 80,000
= 16,000
Al 64,000

02 2B YA E X 60,000 0 60,000

Odulo gl 2EXE A

60,000,000 60,000
) 30,000
= 6,000
Al 24,000

05 212t =S 100,000 184,600 A\84,600
OSEZAALSUAI 100,000,000 100,000
) 50,000
= 10,000
Al 40,000

OHME HIEES AAl 1,813,370 2,012,096 N198,726
Jl 739,420
= 251,404
Al 822,546

Y ESAA 1,231,419 1,242,559 A11,140
Jl 615,710
[ 209,342
Al 406,367

307 lztol & 1,231,419 1,242,559 A11,140
Jl 615,710
s 209,342




SN ALBHD
M QUEE AADRIMHIA HB(22/2H

10
U

=l 32%3 HYES AAl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 406,367
012z & a=Hl 1,231,419 1,242,559 A11,140
O=ItHEESAAl 1,231,419
0 2HBAIOIRI0N(S1) AZ2AX L& S(
B4 okFEH|, lztogd|2 FEHI)
12,410,000& 12,410
7l 6,205
S 2,110
Al 4,09
o HQl NYES(UHZ4 UERAUE, 2
& HE, ZEIRA, MSEZEELD)
505,573,000 505,573
7l 252,787
= 85,947
Al 166,839
o0l HELFE(EAL A4FH|, 212+
I HEHI) 585,776,000 585,776
Jl 292,888
=S 99,582
Al 193,306
0 AR QISR (LTS (EHA A
NEREESEE)
4,722,000& 4,722
Jl 2,361
s 802
Al 1,559
0B Y LIS MIYALS
1,452,000& 1,452
Jl 726
== 247
Al 479
otPV OIEE, 1Xt EZ2 A (LS (A
A OHEH|, BI2IQIBI|B BEHI)
8,742,000& 8,742
Il 4,371
== 1,487
Al 2,884
0BOIHE~BH2AI QIZERAURX} OILEE(EA
A& AFH|, lte2712 HEHI)
112,744,000 12,744
Jl 56,372
== 19,167
Al 37,205
=IHESUYES 334,530 247,012 87,518
101 @124H| 23,466 22,768 698
M ORINZZE2NSE S 23,466 22,768 698




=M AYBAD
HE: OHEE AURRIMHIL HB(2A/220E)
chels st HYESE AAl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgEE 2ARE JIZtH22 Xt 23,466
=1 87,9502 x176 15,480
omrERESTY 87,9503 492 4,310
o=l 60,000 +9Z 540
o wSH| 30,0002 +x0Z 270
o4H=EE 20,228,500 *10.795% 2,184
oI IQAYEHFES
20,228,500 3. 545%+12.81% R
o AXRESRIITE 87,9503 +5& 440
oHEE 2ES 150,000 150
201 er23| 14,994 12,294 2,700
01 At2teltl 12,730 6,030 6,700
OSFHZZ A USA B =S|
80,0002 80
OugESE A28 S 1,500,000& 1,500
OHgES 8223 7Y
2,500&+2,800H 7,000
OlgES 24l 2,500,000& 2,500
OULESAIE w=H| 100,000 +3& 300
OugESH Itz 150,000 3 »23] 900
OougES, olda SJdz)| 237
75,0002 +6H 450
2 35234l 2,264 6,264 24,000
O=gx |R=H 500,000 500
O=78xt RAIE=H] 1,500,000& 1,500
OougEEd RS
22,0002~ 128 264
202 04l 920 1,000 A80
01 SLHoIH 920 400 520
OWgES W=0tl 200,000 3 600
ORE=2II1& & 88 ol
20,0003 =23 +8& 320
301 Eet2 NS 400 1,200 A800
11 #AIAHIXIE S 400 1,200 A800
OUYES NHESAIL S|
8,0002 102 +53] 400
307 glztol & 292,750 208,750 84,000
0192 & 3=l 292,750 208,750 84,000
O+Fait s324= 500,000 500
Ol EAE 258(28) 131,000
0=z 11,0002 %1,000& 11,000
o & X 80,0002 *1,500& 120,000
OLZEEALE 108(R2) 161,250
oA 80,0002 *1,000H 80,000




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
chels st HYESE AAl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oFF 13,0002 +50& 650
0 UERAUTHSZ) 11,0002 *1,000& 11,000
oNt=B R 10,0002 x50 500
oHZ == 139t 70,000 »500H 35,000
oAg2tE 45,0002 x100& »23] 9,000
oBE2tE 6,0002*3002 +33] 5,400
oMR(E, Olotd e, S&)
10,0002 %50 500
oTd(It&tZ, CIZHI2IOoH
12,0002 %300 23 7,200
oTdap(It&tE, 2HaH, CIZEI2I0H)
20,0003 +600 12,000
405 KHoHFSHI 2,000 1,000 1,000
01 ML ESFSHI 2,000 1,000 1,000
ongEsd =& 300,000 *3H 900
OoulgsEsd &3 1,100,000 1,100
?_ELHQ HYEE AA(RIEZ2I12 HEEE Al 247,421 522,525 A275,104
Jl 123,710
== 42,062
Al 81,649
307 212+01& 247,421 522,525 A275,104
Jl 123,710
=S 42,062
Al 81,649
012z € 2/=H] 247,421 522,525 A275,104
OZZLHY HIEE S AS2AZ 12 Al
247,421,000 247,421
Jl 123,710
= 42,062
Al 81,649
=ISHEAEIAAY 25 175,530 203,070 N27,540
Jl 87,765
= 17,553
Al 70,212
NSAR S SN MY A 175,530 203,070 N27,540
Il 87,765
= 17,553
Al 70,212
201 fer23| 91,330 94,150 2,820
) 45,665
& 9,133
Al 36,532
01 At2teltl 71,510 73,330 1,820




SH: AYEEY
Mz Ob=Es HAAZ|AMHIA HZ2(BH/E2HA2)
Chel: 2IDAMHIAAL 2E (cre): 2ig
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OABFY =) YRR
550,000 12& 6,600
J| 3,300
o= 660
Al 2,640
O2% sy 22 F20M
15,000,000 15,000
J| 7,500
= 1,500
Al 6,000
O3e7e NF 22l L N
12,000,000& 12,000
J| 6,000
& 1,200
Al 4,800
O3dAE =222 & 23,000,000& 23,000
J| 11,500
& 2,300
Al 9,200
OSHASAHBRA) 1=
150,000 »2H 300
J| 150
o= 30
Al 120
O2HXJAAMHIA X 2dUHE
720,000& x12& 8,640
J| 4,320
& 864
Al 3,456
o262l 29 3,100,000& 3,100
J| 1,550
& 310
Al 1,240
OZHYAZ(SRE) TI=H|
150,000 «5H 750
J| 375
& 75
Al 300
OSANHIAIX =4lE 200,000& 200
J| 100
& 20
Al 80
O&2t CCTV e XtE 160,000& *x 128 1,920
J| 960
& 192




QA AVEED
M EE HL2ALMUIA MB(BH/BHAZ)
S 2IIFAMUIAAY 2= (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 768
2 S=29| 2,820 2,820 0
O=s%AMY HEE 0Isds 23
110,000& * 12& 1,320
| 660
& 132
Al 528
Oz HAAAMHIA Tt w=2/h]
1,000,000& 1,000
J| 500
= 100
Al 400
OSUXINHIA 1 REHI
500,000 500
| 250
= 50
Al 200
03 &At2ZH] 17,000 18,000 A1,000
O3¢oY A2l 2,000,000& 2,000
| 1,000
= 200
Al 800
OsdiY s 34| 15,000,000 15,000
| 7,500
= 1,500
Al 6,000
202 04d| 780 1,100 A320
| 390
& 78
Al 312
01 =WOdbI 780 600 180
OS3HX e SEH| 780,000 780
| 390
& 78
Al 312
301 LB F 69,420 77,820 A8,400
| 34,710
& 6,942
Al 27,768
11 SHALAHIXIAZ 4,320 7,320 A3,000
OZHXNT& WESH|
60,0003 «6H =123 4,320
| 2,160
& 432




QA AVEED
M UEEH HL2LIMHIA MSB(EAH/E2498)
Cel: IVSHMHIAMY 2= (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,728
14 0Bt 2as 65,100 70,500 A5,400
OZNNTH BELL(01)
60,0003 6 +5& 1,800
7l 900
= 180
Al 720
OsdXcd gs=2(F2)
40,0002 6 x5 *442= 52,800
Jl 26,400
=S 5,280
Al 21,120
O2ME SHAZEEL )83
40,0002 100 4,000
Il 2,000
== 400
Al 1,600
O4HE SHAZEER 183
40,0003 100 4,000
Jl 2,000
== 400
Al 1,600
O6ME SHAIZEEL )83
50,000 x50 2,500
Jl 1,250
[ 250
Al 1,000
307 elztol & 14,000 10,000 4,000
Jl 7,000
[ 1,400
Al 5,600
0122 & 3=l 14,000 10,000 4,000
Osg2xM 7 14,000,000 14,000
Il 7,000
s 1,400
Al 5,600
PAF =4 Y FRO0F AZ24e 631,596 1,464,398 A832,802
= 77,500
Il 35,248
= 285,474
Al 178,374
= 55,000
DASAMROAZH K 19,600 5,400 14,200
Jl 9,800




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Rl GAE S0 2 R0 A2 2L (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,900
Al 4,900
307 lztol & 19,600 5,400 14,200
Jl 9,800
== 4,900
Al 4,900
0122 & 3=l 19,600 5,400 14,200
0D Yae o2yl X
19,600,000 19,600
Il 9,800
== 4,900
Al 4,900
P & =MES N2 155,000 165,000 0
= 77,500
== 15,500
Al 62,000
308 AXIHMSO0IA 155,000 185,000 0
= 77,500
= 15,500
Al 62,000
183 S| 2SO ZB XA AIE 155,000 165,000 0
OJIM7 ZMER X2 2E AtHI
155,000,000 165,000
= 77,500
= 15,500
Al 62,000
HYRE X (HEAIY) 145,000 90,000 55,000
< 108,750
Al 36,250
307 212+01& 145,000 90,000 55,000
& 108,750
Al 36,250
0192 & 3=l 145,000 90,000 55,000
OHYRR Al=tl X2 145,000,000& 145,000
= 108,750
Al 36,250
HY X ZAHE XA 5,000 5,806 A806
s 1,500
Al 3,500
307 @I2t01 & 5,000 5,806 A806
[ 1,500
Al 3,500
0122 & 3=l 5,000 5,806 A806




[m

U

)

SA - B SRIBH) - MRAR - BAS A HIDEZ
O HA X2 5,000,000& 5,000
= 1,500
Al 3,500
HE DI AE 2,000 1,000 1,000
Il 1,000
= 500
Al 500
307 elztol & 2,000 1,000 1,000
) 1,000
S 500
Al 500
0192 € 258 2,000 1,000 1,000
Oy o3
2,000,000& 2,000
Jl 1,000
S 500
Al 500
Ol=0t & H&&40l&0t 2/=H| X2 22,000 10,500 11,500
Jl 11,000
& 5,500
Al 5,500
307 glztol & 22,000 10,500 11,500
Il 11,000
s 5,500
Al 5,500
01ez & 3 22,000 10,500 11,500
OOl%0t 2 EELIBE
22,000,000 22,000
Jl 11,000
=S 5,500
Al 5,500
A AIMOF AZ2e 56,100 19,100 37,000
& 8,050
Al 8,050
= 40,000
301 Eet2 NS 56,100 19,100 37,000
== 8,050
Al 8,050
= 40,000
02 ARl 2EH ) 56,100 0 56,100
OA/HR MO} e
16,100,000& 16,100
== 8,050
Al 8,050
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=M AYBAD
M EE HL2ALMUIA MB(BH/BHAZ)
SRl LAR S4E 2 FAR0F A2t (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 880
Al 880
QHf=D| HZ2el 2225+
2,100,000& 2,100
J| 1,050
T 525
Al 525
Ogdzss 2= 27,0002 63 162
J| 81
= 40
Al 41
02 32| 864 0 864
Q=D H&2el R 0lsds 23
36,0003 «2CH* 123 864
| 432
& 216
Al 216
202 (4t 7,731 5,000 2,731
| 3,865
& 1,933
Al 1,933
01 =WO4bI 7,731 5,000 2,731
O&&F0HI 7,731,000& 7,731
J| 3,865
= 1,933
Al 1,933
N HASREES 4,128 8,231 24,103
| 2,064
= 1,082
Al 1,032
2 FAHAEEHZ 4,128 3,84 294
O=3UHLEEZ 4,128
odLEH 2,867,000 *3H 122 x3.545% 3,659
J| 1,829
= 915
Al 915
oI
2,867,0002+3H 122 3. 545%*12.81% 469
J| 235
= 117
Al 117
307 QI2Hol M 662 3,118 A2,456
J| 331
= 166




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Rl GAE S0 2 R0 A2 2L (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 165
012z & a=Hl 662 3,118 A2,45%6
OAR2F (28, &L ) 662,000 662
Il 331
= 166
Al 165
SHLUAIOI A 2 2otk 6,400 12,000 25,600
Il 3,200
= 1,600
Al 1,600
307 elztol & 6.400 12,000 25,600
) 3,200
< 1,600
Al 1,600
0192 & =4l 6,400 12,000 A5,600
O Y A0l HAE & 2tor2kel
6,400,000& 6,400
Jl 3,200
< 1,600
Al 1,600
ol AERR S v Zadl XA 10,000 0 10,000
307 elztol & 10,000 0 10,000
01 2g & 3=H| 10,000 0 10,000
ool defs S <+ Zadl N3
200,000 +50H 10,000
NATEE MSIMHIA STHAIY (A2 A0 242k2te] 148,000 133,000 15,000
Ab RIS (B EANY)
[ 113,080
Al 19,950
= 15,000
308 AFAIEHMSOIE 148,000 133,000 15,000
== 113,050
Al 19,950
= 15,000
18 SIS0t HAS A 148,000 133,000 15,000
OXSAXIEE ABIMHIA SRAIG (M2 414
OF HAAZ2IAL X&) (X&)
133,000,000 133,000
=S 113,050
Al 19,950
OXNISAXE2E ARIMHIA SEXAIG (M2 414
OF 2A22elAt XI&) (Xtdl)
1,000,000& *15& 15,000
= 15,000
FAEME JAEN oz A1 400 2,400 /2,000




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Rl GAE S0 2 R0 A2 2L (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 200
=S 100
Al 100
308 AtXIEMSOIE 400 2,400 A2,000
Jl 200
= 100
Al 100
18 SIS0t HAS A 400 2,400 ~2,000
OFAE A2 o|2H| XY RIS At
400,000& 400
Il 200
= 100
Al 100
FoAE STACY H2ST 214,313 246,827 A32,514
Il 125,850
= 39,412
Al 47,051
= 2,000
SSA =R SS=2 X A 2,000 2,400 2400
Jl 1,600
s 200
Al 200
201 et 3| 200 200 0
7l 160
S 20
Al 20
01 AtR2t2|HI 200 200 0
OsEg & Xt S 200,000& 200
Il 160
== 20
Al 20
301 eEetE2 N = 1,800 2,200 A400
Il 1,440
= 180
Al 180
14 DBt 2 a=S 1,800 2,200 A400
O=dol g=t| 200,000 0 1,800
Jl 1,440
== 180
Al 180
XIOHZ2IHIA = (XI0HAAHE 2SRIH) 167,313 165,427 28,114
) 124,250
S 6,212




SN AUSTY
M UEEH HL2LIMHIA MSB(EAH/E2498)
ol RIS SZACILY ALSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 24,851
= 2,000
201 er23| 89,109 102,869 213,760
Jl 71,287
== 3,565
Al 14,257
01 AtR2t2lt] 81,482 89,869 A8,387
O3J18&8)| dEgz 77,3003 * 122 928
Jl 743
=S 37
Al 148
OB 1=4|(552)
160,000 74 1,050
Il 840
== 42
Al 168
OSXHIAIX =81z 1,000,000 1,000
Jl 800
s 40
Al 160
OgsgEx)| dEz 113,800« 12& 1,366
Jl 1,093
=S 54
Al 219
Ot HEI 2 Xigr AXIE
720,000 122 8,640
Il 6,912
== 345
Al 1,383
OXIftadE 2825 7Y
3,000,000& 3,000
Jl 2,400
S 120
Al 480
OXIMHetAHE T2 )82
3,0003 %502 #5093 8,850
Jl 7,080
< 355
Al 1,415
OXIDHOtAIMIE! E2HI(XHE 2221 8)
20,000,000& 20,000
) 16,000
= 800
Al 3,200




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
ol RIS SZACILY ALSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxloiolg 222 72
86,3002 *1,000E 55 31,500
Jl 25,200
[ 1,260
Al 5,040
ORI BHEIZRID| AEE
55,0002 123 660
) 528
< 27
Al 106
OZd=g)l Sxz 374,000& 122 4,483
) 3,590
== 180
Al 718
2 s5=34l 2,627 3,000 A373
OSHLEE U HEH(BAR)
1,900,000 1,900
) 1,520
= 76
Al 304
OXIHet M= Xtg FAl2cl]
727,000 rer
Il 581
== 29
Al 17
03 A= I 5,000 10,000 25,000
OXIH 21U & =52 & dA2E
5,000,000& 5,000
Il 4,000
= 200
Al 800
202 04| 2,500 4,710 A2,210
Il 2,000
= 100
Al 400
01 =LHOHI 2,500 3,060 A560
OXIf2el8 80| 2,500,000& 2,500
) 2,000
= 100
Al 400
301 LEtE N = 37,644 33,248 4,3%
Jl 30,115
= 1,505
Al 6,024




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
ol FAE SHACI HEST (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
11 dALEEIXIZE S 6,240 4,500 1,740
OXIOfetai e 2 )8 2 AL Cht
] 3,0002 102 +2082 6,240
Jl 4,992
< 249
Al 999
14 IIEt2 83 31,404 28,748 2,6%
OXIDHetAHIE 208 2 A=
90,0002 1662 14,940
) 11,952
== 598
Al 2,390
OXIDHtA MIES HE AL =&
343,000 x45=+12& 16,464
Jl 13,171
= 658
Al 2,635
307 gl2to| & 28,060 24,600 3,460
) 20,848
= 1,042
Al 4,170
= 2,000
0122 & 3= 28,060 24,600 3,460
OXIOHZEH AHBXH B A
80,000 6 * 122 5,760
Jl 4,608
s 230
Al 922
OXIoHZE 2 AtH] X1 (XHA)
80,0003 x25H 2,000
= 2,000
OXHSES AMES & 223
14,5002 x360H x45 20,300
Jl 16,240
s 812
Al 3,248
XIHXIZ2eld] X (&EAY) 55,000 75,000 /20,000
== 33,000
Al 22,000
308 XXM SOIA 55,000 75,000 220,000
= 33,000
Al 22,000
18 S 2SS & HAEAIE 55,000 75,000 220,000
OXIHXI 22 2/d] (2H/bl) X1
55,000,000 55,000




=M AYBAD
I HEE AN X IS (E22A/222 1)
ol RIS SZACILY ALSH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 33,000
Al 22,000
FED)|eHE Set HEeH 383,453 335,402 48,051
Jl 101,225
< 134,448
Al 147,780
2oretzte] XXM XIS (LZ 2 X&) 168,673 157,156 11,517
Il 84,337
== 16,867
Al 67,469
201 223 5,000 5,000 0
7l 2,500
= 500
Al 2,000
01 At 2|l 5,000 5,000 0
oYy =JIzgd 28 5,000,000 5,000
Jl 2,500
= 500
Al 2,000
308 AtXIEMSOIE 163,673 152,156 11,517
Il 81,837
= 16,367
Al 65,469
183 S| 2SS SHAEAIE 163,673 152,156 11,517
Og xJ1ZdHl &= 163,673,000& 163,673
Jl 81,837
= 16,367
Al 65,469
SEX oZHl 2 Morzel X (LEX ZHI) (& 189,130 151,060 38,070
EALY)
s 113,478
Al 75,652
307 @I2t01 & 189,130 151,060 38,070
[ 113,478
Al 75,652
0122 & 3=l 189,130 151,060 38,070
Oogeht 2=Hl X 189, 130,000 189,130
= 113,478
Al 75,652
SEX o ZHl ¥ Totzel X (Hotg2elAl) (& 4,540 4,540 0
EAt)
=S 2,210
Al 2,210




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Ol IEFI|UAS Sat MW (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 4,540 4,540 0
= 2,210
Al 2,210
01 2g & 3=H| 4,540 4,540 0
Ot ekt S BES 4,540,000 4,540
= 2,210
Al 2,210
SIS GRS re DN Fale o= PPN goe fage: 1,250 1,250 0
Jl 1,000
Al 250
201 2egh=3| 1,250 1,250 0
Jl 1,000
Al 250
01 At2teltl 1,250 1,250 0
O2eg0=agd i HASHL 2=
1,250,000 1,250
) 1,000
Al 250
SlegdsasdA ER0tE588 K& 1,530 1,183 347
Il 1,224
Al 306
308 XXM SOIA 1,530 1,183 347
Jl 1,224
Al 306
18 SIS0t 4 A AS At 1,530 1,183 347
O&R0t 22288 f&= 1,530,000& 1,530
Jl 1,224
Al 306
Slegsad At dEtF A K& 18,330 20,213 1,883
Il 14,664
= 1,833
Al 1,833
308 AHXIEMSOIE 18,330 20,213 1,883
) 14,664
< 1,833
Al 1,833
18 SIS0t 4 A AS A 18,330 20,213 1,883
O2eg0=ad i dEtAdA A5
18,330,000& 18,330
Il 14,664
< 1,833
Al 1,833
soret Mgetd NS ¥ 2=Hl XA 63,348 238,713 A175,365




SN AUSTY
M UEEH HL2LIMHIA MSB(EAH/E2498)
oHel: HOS ZRE HB ¥ oRH X (crel: g)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 15,000
=S 3,300
Al 45,048
MOFEHIEA 2 = K& 1,500 1,665 A165
== 300
Al 1,200
307 212+01& 1,500 1,665 A165
= 300
Al 1,200
0192 & 3=l 1,500 1,665 165
OMIIXHIE A 2= H| X2
1,500,000 1,500
= 300
Al 1,200
dSMHIA ST 31,848 43,048 211,200
201 fer=3| 14,148 18,548 A4,400
01 At 22|l 14,148 16,548 A2,400
ogldd =25 7 1,000,000& 1,000
OUEFESA plE= 1l
150,0003 #5& +23] 1,500
ORIATAA ASHAI| KR
55,0002 123 660
O=gll gitz 187,000& <20H+ 122 4,488
Odgd S)|ad)| douy +
100, 0002 *3H 300
Odlgd Ler2a| 2,000,000& 2,000
OsFgAE 23 &= Itz dE8
350,000& * 128 4,200
202 04| 200 1,000 A800
01 =LHOLI 200 1,000 A800
Ollg+ges & Ry B=523 &8
Bl 00,0002 200
307 elztol & 17,500 23,500 26,000
01 29g & 3=H| 17,500 23,500 26,000
Odgd &%= 7 500,000 500
Ostgd &g ofF 28
50,0003 20522 2,000
OsFdy =] 1,500& 10,000 15,000
SRS etk 2 =2H| X 30,000 194,000 164,000
Il 15,000
== 3,000
Al 12,000
308 AFAIEHMSOIH 30,000 194,000 164,000
7l 15,000




SN AUSTY
M UEEH HL2LIMHIA MSB(EAH/E2498)
oHel: HOS ZRE HB ¥ oRH X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,000
Al 12,000
18 SIS0t & A AS A 30,000 194,000 164,000
Os|HEeAt egdl X
30,000,000& 30,000
Jl 15,000
< 3,000
Al 12,000
2AAZAMHIA WS 61,934 58,659 3.275
= 17,500
Al 44,434
2Aog=X SEAIHA 2= 43,750 43,750 0
= 17,500
Al 26,250
308 AHAIEHMSOIE 43,750 43,750 0
== 17,500
Al 26,250
13 SI12S0He & A AS A 43,750 43,750 0
O2A2=z S| SEXAMA 2=
43,750,000 43,750
= 17,500
Al 26,250
gdaosdzg 18,184 14,909 3,275
101 @124H| 8,400 2,100 6,300
04 JIZtN2 2N S 2+ 8,400 2,100 6,300
OYArHA e 12|
210,0002 402 8,400
201 =3 9,304 12,329 A3,025
01 AtR2t2l] 3,644 4,844 21,200
OZ2% E=u=H| 100,000 *22] 200
OYAESAL LIZLY S84+
18,0003 x2& *43] 144
Oggestd S)|da)| 82 & ARF 2
=t 300,000& 300
Ogyostd 224 =y
100,000 *22] 200
Ogafolstal Nt V3 ctojdlA 7l
500,000 500
ogdosd 24| 300,000 300
OZ g4l QA II=HEHI
5,000 400K 2,000
2 352484l 5,660 7,485 A1,825
Ogelostal HHl |RXI2=H| 5,660
o Zaostal HH| 244l
2,000,000& 2,000




=M AYBAD
BH: QS AUBRIMLIA MB(22A/2AAR)
o2 BAozMHIA HSB (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o Zato|stAl FH| sXl2eld]
1,830,000 & *23| 3,660
307 QI2tol ™ 480 480
01 22 & 35| 480 480
OEYA Digol I 7Y
32,0002 154 480
NBAS] A2=F ey 276,874 480, 121 A203,247
s 9,927
J| 103,775
& 15,499
Al 147,673
A QHEEE MEI ] 2,920 2,940 A0
| 1,460
Al 1,460
201 Lt | 2,920 2,940 A0
J| 1,460
Al 1,460
01 At 22|l 2,920 2,940 A0
OBrd&E AtZI1El L AL ZAF FMTP W =SH|
2,920,000& 2,920
| 1,460
Al 1,460
Atil2e] HERAH e (g2a22e]) 19,854 19,598 256
= 9,927
= 1,985
Al 7,942
201 LBr23| 4,794 6,298 A1,504
s 2,397
& 479
Al 1,918
01 ArR2eltl 2,674 3,298 AB24
O32% Il=t| 150,000& 150
s 75
& 15
Al 60
OY2H222|AIE W=H| 400,000& 400
s 200
= 40
Al 160
OgzHZZe MY EE2EE L 222
2,124,000& 2,124
s 1,062
T 212
Al 850
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SN ALS
Hm: orEE ALRIMHIA RB(22/222R)
o]

el X

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 100
Al 100
01 ArR2eltl 200 150 50
OXSMIAHL AL EEE HIZ
200,000& 200
| 100
Al 100
202 04d| 300 350 AB0
| 150
Al 150
01 S| 300 350 YANG 0}
OXIG M AL AL E2F O]
300,000& 300
| 150
Al 150
307 QI2H0l M 67,062 67,062 0
J| 33,531
Al 33,531
05 It/ e g 67,062 67,062 0
OXISAIZ AL RAL RIE AP
67,062,000& 67,062
| 33,531
Al 33,531
NSAE SEHLSIML (NTHEE) (HBHSLA 27,849 45,170 A17,321
Ated)
| 13,924
= 2,786
Al 11,139
201 Let23| 21,329 32,730 A11,401
| 10,664
& 2,134
Al 8,531
01 At 2elt] 20,429 24,930 24,501
OHZMENA EE2EF 712
5,000% *3,450% 17,250
| 8,625
T 1,725
Al 6,900
O XMUHAIXI =81 269,000& 269
J| 134
T 28
Al 107
OSEAHLSIAY SRIAZ2 XL TI=H|
150,000 *5H 750
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FA ABSL

Hu: giEE AABRAMLIA HB(22A/22A2IR)

Rl NFALE] 2= Shat (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KIIAFS] SEALSAIY (RXHHEE) (Al 2ot m gt 10,000 34,030 24,030
Ard)

Jl 5,000
[ 1,000
Al 4,000
201 er23 | 1,000 6,250 25,250
7l 500
== 100
Al 400
01 Al 22IH| 1,000 6,250 A5,250
MBS EP2E U ADE
1,000,000 1,000
Il 500
s 100
Al 400
307 212+01& 9,000 27,780 18,780
Jl 4,500
=S 900
Al 3,600
012z € 2/=H] 9,000 27,780 A18,780
NSRS IRADE
9,000,000& 9,000
Jl 4,500
=S 900
Al 3,600
NHALS] SBHYBTAL (XXM EE) (OHE L FAI AL 8,000 19,000 A 11,000
2)
Jl 4,000
s 800
Al 3,200
201 et 3| 5,000 14,000 29,000
7l 2,500
= 500
Al 2,000
01 AtR2t2|HI 5,000 14,000 29,000
OOIELl &4 otystl) 2H=5 78
2,500,000& *22] 5,000
Jl 2,500
= 500
Al 2,000
307 @I2t01 & 3,000 5,000 A2,000
Jl 1,500
= 300
Al 1,200




=M AYBAD
M UEEH HL2LIMHIA MSB(EAH/E2498)
Rl NFALE] 2= Shat (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
0192 & =4l 3,000 5,000 /2,000
OR0F 22T ZE HHAA K
50,0002 *60H 3,000
Jl 1,500
== 300
Al 1,200
NHALE] SEHYBEAL(NMHEE) (SLEHAA 68,000 124,720 NBB, 720
2)
) 34,000
& 6,800
Al 27,200
307 glztol & 68,000 98,000 230,000
Jl 34,000
< 6.800
Al 27,200
0122 & 3=l 68,000 98,000 /30,000
OELSHAANE 23AS N
58,000,000 58,000
Jl 29,000
== 5,800
Al 23,200
OBAE M 2L 10,000,000& 10,000
Il 5,000
== 1,000
Al 4,000
NSAte] SESHLSTAML(NMHMEX) (RFA2 S 21,280 33,040 A 11,760
THEAL)
Jl 10,640
S 2,128
Al 8,512
301 2PEN= 17,280 23,040 Ab,760
Jl 8,640
=S 1,728
Al 6,912
14 0Bt 2as 17,280 23,040 Ab,760
ONMgZzIdl 249 Az
90,0002 x85+243] 17,280
Jl 8,640
=S 1,728
Al 6,912
307 212+01& 4,000 4,000 0
7l 2,000
= 400
Al 1,600
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FA ABSL
. A2 IHI(ALST W) (O1EH/IIE
chol: ol (19 @)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 21,821
=S 4,365
Al 17,457
= 27,133
101 @124H| 63,330 39,642 23,688
= 20,296
< 4,060
Al 16,237
= 22,737
03 SR (RIH )22 U2+ 40,593 39,642 951
O82H 22X B 40,593
oJl22(458) 1,911,050« 11& 21,022
= 10,511
=S 2,102
Al 8,409
oJlEs(5&3) 1,934,750 1,935
= 968
= 194
Al 773
onSEXH| 60,0002 «12& 720
= 360
= 72
Al 288
oMY TeA+E 120,000& * 122 1,440
= 720
= 144
Al 576
oAgxE 40,0003 * 122 480
= 240
S 48
Al 192
o HAUZAHI 140,000 » 128 1,680
[ 840
= 168
Al 672
o&d2=¢ 445,210 22 893
[ 446
= 89
Al 358
o M= ttet| 5,577,620 5,578
[ 2,789
= 558
Al 2,231




=M AUB
A HYRAZH(AZLSI W) (JIEH/IIEH
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
o HERIII 2,677,260 2,678
= 1,339
== 268
Al 1,071
oZU2RFE 21,7703 «10A1 2113 2,3%
= 1,198
== 239
Al 958
o =2 (128) 22, 1133 +5AI 2 11
= 55
== "
Al 45
(OEAT= 500,000& 500
s 250
== 50
Al 200
o dXtRERIIE 116, 1002« 10& 1,161
s 580
s 17
Al 464
04 JIZtN22 X S8+ 22,737 0 22,737
OZ 0 (XtM) 87,9508 x170& 14,952
= 14,952
ORSFL=2(XHA) 87,9502 x50 4,398
= 4,398
O=AHI(XEA) 60,0002 82 480
= 480
O EHI(XEA) 30,0002 +82 240
= 240
O4ti =& (Xt 19,788, 7502 %10.795% 2,137
= 2,137
OFIIQALHSLES(XHA)
19,788, 7502 *3. 545%+12.81% 0
= 0
OHXRSFII=E(XHH)
87,9503 x5 440
= 440
WM HsEE=S 7,446 2,708 4,738
= 1,525
= 305
Al 1,220
= 4,3%
04 SR (RIHA)22N BE=RES S 7,446 2,708 4,738




=M AUB
. A2 IHI(ALST W) (O1EH/IIE
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OExsg= 3,049,450& 3,050
= 1,525
== 305
Al 1,220
OHAZEE= (XA 39,061, 1702 *4. 5% 1,758
= 1,758
OAHLEE 2 (RHAI) 1,563
0 EE 39,061, 1702 *3.545% 1,385
= 1,385
oY 39,061, 1702 *3.545%+12.81% 178
= 178
OLNSMTHEEZ (XHM)
30,061, 1702 *2.75% 1,075
= 1,075
HLESSEUH =29 54,556 27,240 27,316
Il 13,713
Al 13,713
= 27,130
101 @12A4H| 47,042 27,240 19,802
) 13,713
Al 13,713
= 19,616
03 SR (RINHA) 222+ 47,042 27,240 19,802
O3R2Z22X S0 (8Y) 27,426
oJlE=(1b53) 2,165,500 x 123 25,986
Jl 12,993
Al 12,993
oMY TeA+E 120,000& * 122 1,440
2l 720
Al 720
OSRA22X S0 () (XHA) 19,616
od0i= 8,645
- MEetas| 2,470,000 +250% 6.175
= 6.175
g2+ 2,470,000 *100% 2,470
= 2,470
oA+ 600
M=Eact 50,0002 123 600
= 600
o girERIIsE 133,4803 15 2,003
= 2,003
o ScI=dH| 5,364
wSEXH| 60,0002 * 12 720




=M AUB
. A2 IHI(ALST W) (O1EH/IIE
chol: ol (19 @)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 720
- SERIHI 1,482,0002 23] 2,964
= 2,964
- HAZAY| 40,0002 128 1,680
= 1,680
0 JlERSE 3,004
e
25,0293 x10A12H= 123 3,004
= 3,004
M A=FLSS 7,514 0 7,514
= 7,514
4 R (RIHA)22N BEERES S 7,514 0 7,514
o4t B2 (XHAI) 45,254,680 %10.795% 4,886
= 4,886
OFIILY LS (XHH)
45,254,680 *3. 545%+12.81% 206
= 206
OEAESYS(XHA) 2,421,330 2,422
= 2,422
KAtE] SEALSEAL (XXM EE)(Q124H]) 278,153 271,830 6,323
Il 139,077
= 27,814
Al 111,262
101 @124H| 236,533 230,420 6,113
) 118,267
= 23,652
Al 94,614
03 SRH(RINHA) 222+ 236,533 230,420 6,113
OZ2H 22X B(8Y) 236,533
oJlEZ=s 129,333
- 1323 2,103,640~ 128 25,244
Il 12,622
= 2,524
Al 10,098
- 142 s 2,115,280~ 128 25,384
Il 12,692
= 2,538
Al 10,154
- 1528 2,149,780~ 128 25,798
Il 12,899
= 2,580
Al 10,319
- 1623 2,195,280~ 128 26,344




SN AUSTY
M HERHHHI(HAZSE D) (OIEHDIIE)
chol: ol (19l @2
A - B G(3H) - NRAY - HES ol b e HlmS2
| 13,172
= 2,634
Al 10,538
== 2,213,520& 123 26,563
| 13,282
= 2,656
Al 10,625
o&0Z 43,327
a4y 12,380
-13%2 2,423,640& 2,424
| 1,212
= 242
Al 970
-1435= 2,435,280& 2,436
| 1,218
= 244
Al 974
== 2,469,780& 2,470
| 1,235
= 247
Al 988
-165 8 2,515,280& 2,516
| 1,258
= 252
Al 1,006
-173= 2,533,520 2,534
| 1,267
T 253
Al 1,014
Mg ehetd] 30,947
-13%8 6,059, 100& 6,060
J| 3,030
= 606
Al 2,424
-us= 6,088,208 6,089
J| 3,044
= 609
Al 2,436
== 6,174,450 6,175
| 3,088
= 618
Al 2,469
-165 = 6,288,200& 6,289




SN ABHD
M HERHHHI(HAZSE D) (OIEHDIIE)
chel: oli2aly| (el &8
A - B G(3H) - NRAY - HES ol b e HlmS2
| 3,144
= 629
Al 2,516
-17&88 6,333,800& 6,334
| 3,167
& 634
Al 2,533
o HoLY 20,400
AT ALY 120,000& 5% 122 7,200
| 3,600
& 720
Al 2,880
HUZ A 140,002 *5% * 122 8,400
| 4,200
= 840
Al 3,360
s 40,0003 x5F 123 2,400
| 1,200
T 240
Al 960
- REsY 40,0003 x5F 123 2,400
| 1,200
T 240
Al 960
o =224 18,456
NS84 60,0002 x5 12& 3,600
| 1,800
& 360
Al 1,440
HE IO 14,856
-13%8 2,908,360& 2,909
J| 1,454
= 291
Al 1,164
-1435= 2,922,330& 2,923
J| 1,462
= 2P
Al 1,169
== 2,963,730& 2,964
| 1,482
= 296
Al 1,186
-165 = 3,018,330& 3,019




SN ALBHD

M HAPAZH|(ALSED) (JIEH/IIE

oel: el 2dH| (Ete &
(=] « NZH . C2(S . S A IHAHEZ | OH ST Hln=2t

75 3,040,220
oZU2RFE

- 1383 24,443+ 10A1 2+ 128

- 4s = 24,6102 *10Al2t+ 128

- 1583 24,9553 % 10A1 2H+ 128

- 682 25,4002 *10A[ 2t+ 128

-7s= 25,5013 x10A1 2t 128

- 1383 130,630& x 15
- 4s= 131,250& + 15
b= 133,090 x15&

- 1623 135,510& +15&

in

Al

H

Al

in

Al

in

Al

in

Al

in

Al

in

Al

in

Al

in

Al

in

Al

J|

1,509
302
1,208
3,041
1,521
304
1,216
15,010
2,940
1,470
294
1,176
2,94
1,477
2%
1,182
2,995
1,498
29
1,198
3,050
1,525
305
1,220
3,071
1,536
307
1,228
10,007
1,960
980
1%
784
1,969
984
197
788
1,997
998
200
79
2,033
1,017




SM: ALEXY
M HERHHHI(HAZSE D) (OIEHDIIE)
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 203
Al 813
78S 136,490 x 15 2,048
| 1,024
= 205
Al 819
M HAIRE3S 41,620 41,410 210
| 20,810
= 4,162
Al 16,648
M BSRHE(PINHSL)2ZX E828€=2 S 41,620 41,410 210
Oo4EE 214,420, 1502 *10.795% 23,147
| 11,574
& 2,314
Al 9,259
OINQY FER
214,420, 15021 *3. 545%+12.81% 974
J| 487
= 8
Al 389
OE&EYZ 17,499
o13& 3 3,412,810& 3,413
J| 1,707
= 341
Al 1,365
olds = 3,440,740& 3,441
J| 1,721
= 344
Al 1,376
olbs = 3,520,010& 3,521
| 1,760
= 353
Al 1,408
ol6s= 3,538,220& 3,539
| 1,769
= 354
Al 1,416
o178 3,584, 710& 3,585
| 1,792
= 358
Al 1,435
K ASISAZAXS MHIA(Q124H]) 52,750 31,950 20,800
| 26,375




=M AUB
. A2 IHI(ALST W) (O1EH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,275
Al 21,100
101 @124H| 46,629 25,531 21,098
Jl 23,316
== 4,662
Al 18,651
03 SRA(RIH L) 222+ 46,629 25,531 21,098
O3Rz22X 20 (8Y) 46,629
oJlEs 24,970
A=t 2,080,830« 12& 24,970
) 12,485
S 2,497
Al 9,988
o= 8,404
g2+g 2,401
1223 2,400,830& 2,401
7l 1,201
= 240
Al 960
Hi=Actet] 6,003
-2 6,002,070 6,003
Jl 3,002
s 600
Al 2,401
odAHre 4,800
Seddse 120,000 123 1,440
Jl 720
S 144
Al 576
gl 140,000 12 1,680
Jl 840
< 168
Al 672
E=E 140,000~ 12& 1,680
Jl 840
== 168
Al 672
o Scl=dH| 3,601
wWEE L] 60,0003 * 122 720
Jl 360
S 72
Al 288
SE S| 2,881




=M AUB
. A2 IHI(ALST W) (O1EH/IIE
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
282 2,880,990& 2,881
Jl 1,441
== 288
Al 1,182
o JIE 4,8%4
22 2,912
1223 24,2662 x10AI1 2+ 123 2,912
Il 1,456
= 291
Al 1,165
- AXRESRIE 1,942
1223 129,420 » 15 1,942
Jl 97
= 194
Al nr
M HASFESS 6,121 6,419 A28
Jl 3,059
= 613
Al 2,449
04 SRA(RIH )22 BEE=RES S 6,121 6.419 A298
OSRH(RIAHL)22NE2EERYSS 2,621
odlf 282 23,289,960 +10.795% 2,515
Jl 1,257
= 252
Al 1,006
oI RALEE
23,289,960 3. 545%+12.81% 106
Jl 52
= "
Al 43
OFasg= 3,500
ol2e= 3,500,000& 3,500
Il 1,750
== 350
Al 1,400
ROt MIE] 2SN (RIXEHMEE)(1248]) 380,024 364,573 15,451
Jl 304,020
s 156,201
Al 60,803
101 21AH| 322,425 309,128 13,297
7l 257,942
= 12,902
Al 51,581




=M AUB
. A2 IHI(ALST W) (O1EH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SR (RINAHA) 222+ 322,425 309,128 13,297
OZRA 22X} B(8Y) 822,425
oJlE=s 179,380
223 1,850, 1902« 128 22,203
Il 17,763
= 889
Al 3,551
588 1,934,750« 128 23,217
Il 18,574
= 929
Al 3,714
7=s 2,213,520 x2H 123 53,125
Il 42,500
= 2,125
Al 8,500
B82S 2,232,600 1238 26,793
Il 21,435
= 1,072
Al 4,286
V== 2,251, 7208 =2E 1238 54,042
Jl 43,234
= 2,162
Al 8,646
od0i= 57,300
g2+d 14,328
252 434,030 435
J| 348
=S 18
Al 69
553 1,127,370& 1,128
Il 903
S 46
Al 179
72 2,533,520& x2H 5,068
Jl 4,085
= 203
Al 810
-1823 2,552,690 2,553
7l 2,043
= 103
Al 407
-1958 2,571,720 2% 5,144
7l 4,116




SN AUSTY
M HERHHHI(HAZSE D) (OIEHDIIE)
ohel: oI 23| (e &3
A - B G(3H) - NRAY - HES ol b e HlmS2
= 206
Al 822
ME S| 42,972
25 5,425,470& 5,426
| 4,341
& 218
Al 867
55 5,636,870& 5,637
| 4,510
& 226
Al 901
-173= 6,333,800 x2Z 12,668
J| 10,135
& 507
Al 2,026
-85 6,381,720& 6,362
J| 5,106
& 256
Al 1,020
-195 & 6,429,300& x2H 12,859
J| 10,288
T 515
Al 2,056
0 HoUg 25,680
AT Y 120,000 x7E 123 10,080
| 8,064
& 403
Al 1,613
NEE 3,840,000& 3,840
| 3,072
& 154
Al 614
HoHZAlY| 140,000 x72 * 12& 11,760
| 9,408
& 470
Al 1,882
o =SCIS M| 5,040
ME=ISENG | 60,0003 x7F* 123 5,040
| 4,032
& 202
Al 806
o BEFIIHI 20,629
25 = 2,604,220& 2,605




SM: ALEXY
T WFSHAY|(ALSTD) OIEHIIEN
s lIEE2ghl EEREE
A - B G(3H) - NRAY - HES ol b e HlmS2
| 2,084
= 105
Al 416
558 2,705,700 2,706
| 2,165
& 109
Al 432
== 3,040,220 +2H 6,081
| 4,864
T 243
Al 974
1823 3,063,220& 3,064
| 2,451
T 122
Al 491
1953 3,086,060 *2H 6,173
| 4,938
& 246
Al 989
oZU2RY 20,637
25 = 20,9243 «10A| 2+%12E 2,51
| 2,008
& 100
Al 403
== 22,1333 *10A| 2+ % 12E 2,65
| 2,124
= 106
Al 426
7ss 25,5013+ 10AI 2t 123 x2S 6,142
| 4,913
= 245
Al 984
1823 25,7833 *10A 2+ % 12& 3,094
| 2,475
& 124
Al 495
1953 25,9733 *10A| 2t 123 x2H 6,234
| 4,988
T 250
Al 9%
0 AXRSFII=E 13,759
25 = 111,590 15 1,674
| 1,339




SN ALBHD
A HYRAZH(AZLSI W) (JIEH/IIEH
el QIEE2E
S - - BRI(E) - MRANY - BES of v A

< 66

Al 269

-55 2 118,0403 » 15 1,771

Il 1,416

== 70

Al 285

-72s 136,490 x 152 x2H 4,095

Il 3,276

== 164

Al 655

- 1823 137,5103 x 15 2,063

Il 1,650

[ 82

Al 331

9= 138,520& 152 «2H 4,156

Il 3,324

& 166

Al 666

04 HSRESS 57,599

J| 46,078

= 2,29

Al 9,222

04 SRH(DDIAM2RN PHRLLS S 57,59

OslEY3 23,851

0253 2,949,730 2,950

Il 2,360

[ 17

Al 473

0552 2,927,030 2,928

Il 2,342

[ 17

Al 469

ol7a2 3,597,870 +2H 7,1%

J| 5,7%6

= 287

Al 1,153

olgs2 3,547,340 3,548

Il 2,838

S 141

Al 569

o195 3,614,310&+2H 7,229

J| 5,783

S 288




SN AUSTY
. A2 IHI(ALST W) (O1EH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,158
(@11 L=4= Y= 300,000, 0002 *10.795% 32,385
Jl 25,908
= 1,295
Al 5,182
OHIIRLEE RS
300,000,000 +3. 545%*12.81% 1,363
7l 1,091
S 54
Al 218
JlI=23sl 27,380 30,212 A2,832
JI23Hl 27,380 30,212 A2,832
201 2= 17,380 20,412 A3,032
01 At22t2lt] 14,180 17,212 23,032
o=l 300,000 * 122 3,600
ORAME2Y AtR2elH] 8,000,000& 8,000
Otz #s= 43,0002 123 516
OZs8E=) SXE 172,000~ 128 2,064
02 s3=gHl 3,200 3,200 0
ORK2g S52gH| 2,000,000 2,000
ORERs 100,000& ~12& 1,200
202 04l 1,000 2,000 21,000
01 =LHA LI 1,000 2,000 1,000
ORANEg =LY 1,000,000& 1,000
203 =8| 7,800 6,600 1,200
02 32 JRHH 2= 1,920 1,440 480
OFAINIE R 40,0002 x48H 1,920
M EASHLRFAH 5,880 5,160 720
ORNSgERF=AHI 490,000 123 5,880
204 APt AH 1,200 1,200
01 AMGHR A HH] 1,200 1,200
OMHZHR -] 100,000& * 12 1,200




